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1. REHERHOR
(1) AEEIR
EAMEER 1 1 0
FEART BESE HUFILE, 1 1 0
BEEEERLG 2,300 2,300 0
BEAETIFLE 2,300 2,300 0
= UK & 816 920 A 104
A2 Ut X &5 & (IE) 96 120 A 24
% B KT & () 720 800 A 80
LM &% 1,250 1,250 0
T A R & 1,250 1,250 0
i e T B 500 500 0
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ZH s 50 50 0
UL IE 417 382 35
ZHFE 2 2 0
B ISR R 200 200 0
HEIA 215 180 35
R IR 5,334 5,403 A 69
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TEY 4,499 5,179 A 680
REzmE 1,590 1,460 130
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HEER R 100 100
FlRSLA% 700 700
FEEEE 90 120 A 30
SrLE 130 130 0
HEE 0 0 0
FHk 8 8
A& 60 60
ZREE 310 290 20
BhRR4: 0 800 A 800
FHER 850 850 0
MR 250 250 0
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EH 10,402 10,476 A T4
fakk 4,500 4,500 0
HFEY 1,658 1,680 A 22
EERFIE 930 1,000 A T0
RSS2 375 375 0
B E A 60 50 10
REZIBE 750 650 100
e ERE 250 230 20
HEERR 100 100 0
E R A 135 135 0
b [P g 50 50 0
HEKE 200 200 0
=¥t 750 750 0
FHoet 11 11 0
y=Fi=k-o 407 600 A 193
EFoet 66 65 1
R 110 30 80
MR 50 50 0
R AR 14,901 15,655 A 754
W AR N IR A 9,567 A 10,252 685
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(1) BESMRLE 0 0 0
BE A AEE 0 0 0
(2) BENEA 0 0 0
e 4% A 0 0 0
X HIRHSMERAR 0 0 0
A —RROE SRR REIB IR A 9,567 A 10,252 685
—RIEEMEN RS 208,507 218,759 A 10,252
— X IEBRR EE AR & 198,940 208,507 A 9,567
0 HEEIESRR B O 0 0 0
e B4 X 1E Wk RE 1 TRl AR 0 0 0
BEERMENEES 0 0 0
e EEBR ERIR R 0 0 0
I IERMESRES 198,940 208,507 A 9,567




BESRARRORBEREDRAAZIR L I-EH
(4M4E4LH IANSAMSE3AS 1HET)

(1) HBEFEDORAAIIDONT
THAFEERICESHETERL D EE A

(2) RMBEEDRRAAITDONT
THAEEPICRMRETERHD T A,



